SAP ABAP table CSKBZ {Cost Element: CSKA + CSKB + CSKBD + CSKU}
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AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

CSKA

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

KSTAR [CHAR (10)]

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

T002
SPRAS [LANG (1)]

TOO04
MANDT [CLNT (3)]
KTOPL [CHAR (4)]

TOO06

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

T8))

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RECID [CHAR (2)]

TFKB

MANDT [CLNT (3)]

FKBER [CHAR (16)]

TKAO1

MANDT [CLNT (3)]

KOKRS [CHAR (4)]




